[{GeV]

Ratio to ATLAS

dsum E;
dn do

0.5

7000 GeV pp
ARLEE B B BN B

L}nderlying Event

= LI I I B B B B v
c
— h tral j1j2 i1 -1
P(E) vsn (| < 4.8, p° (neural 5 0.5(0.2) GeV, E" > 20 GeV, | < 2.5) E
_ m ATLAS 18
- —A— Pythia 6.428 370 {n
— --f-- Pythia 6.428 391 12
- Pythia 6.428 default =
—4— Pythia 8.170 default o
- 1=
L |
B —%
o™
— <
o™
- o
I _ 10O
™
| R
. %
- —.3,
— —
(@]
— — <
- i R b)
O
— — U
u e
S
L i ©
- =2
1
L —0.5
| " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 1 1
0 1 2 3 4



	Contents
	Page 1


